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=15 - AB = 4x + 2, BC = 6x — 8
4y =1S X v What do x and AB equal?

What do x and AC equal?

l'la!ll = n = Rresy A I\LV lt'; ‘:_vu—l_t\:u.lv-lq TIIRERELT IS AA s Rrs sTessses = TTEE R E
‘ 4. Scgment Addition Postulate: 5. Definition of a Midpoint: 6. ph the following lines.
1. Solve: 2x + 3=11 . Dt: Vertical Line)
- 3 @ In the segment below, In the segment below, ¢ Horizontal Line)
= i idpoint of AC. \ i +0
| 3 34" AB = 2x + 9,BC = 4x- 7,AC = 38 e ot M
{ 2. Solve E t:y = —-1x + 0)
l
|
|
|

3 3§gﬁ§ " .
37 Solve: e o DR AB=___
L{ | S{Zf 30 f «@ RX\'q Ux-)

A B C
1Sx=30 | X

7. Classify the following angles: (Choose from acna‘bbtuse, right, or straight)

L. L N

8. Angle Addition Postulate: 9. Angle Bisector: line or ray that divides an angle into two
SIDE NOTE: m.21 Is the shortcut way of writing “the
messure of angle 1.° It's ke math texting - you write Congruent angles.
LOL Instead of “aughing out loud,” math people write \ '
mél=7x—2 mZ1 instead of “the measure of angle 1.~ A g
mL2=5x+5 BD bisects £ABC

ms2=2x+21

mZABC =75° A \(:} /-I S msl=5x-12
What is x equal to? * e
G 1 6*(6 What are x and mZABC ?

R 2 s
x_ »
B c

e
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; For 10-11, suppose 7& = MN . For each set, solve for x, and find the length of each segment.

| 10. RS = 3x + 17, MN = 7x- 15
l
|

11. RS = x + 10, MN = 2x + 4

12. Given what you know about triangles, right angles, and straight angles, solve for the

variables:
C
\0 /
A z B
/‘no-

/ ‘\
/ @\
/‘/ \ b
\ 57
AR N 2

1$0-16-37)

D
D
o 0 . E
125° /,/ 55ﬁ 55 0

A Cc 8

13. The angles around parallel lines have some really interesting
properties...can you figure them out?
Find the values of a, b, ¢, and d.

o= \[0
b= 2. e a bva
€= — W 0
d= R
110°

Side Note: The little arrows on the two segments are Geometry
notation for saying “these segments are parallel.”
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~14. Multiply each of the féflow'mg polynomials: I 15. Factor each of the following polynomials:
a) (x+5)(x+4) = ) x2+7x+12= ( )( )
b) 2x-3)(x+2) = b x2—-2x-15= ( ) )
o) (x+6)? = )x2—=10x+25= ( )( )
‘ R 16. Lelﬁ;ﬁ?. 17. Let AB=BC,AC=3x-31
1 x = AB = F———
} 2x - 8 x + 17 BC = AC = ° 1+64 ° AB = _
; o ot B BC =
A B c A c e
‘ AC =
Created witn Docer| Q\\i
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Example 1: | e -
5x-(((5-2%) =2| Y=5 §(i)
=520 Sy- 30413y Zal v
I—)Y' 50:1 l — K—.
¥30 3o =S » l)
Show ALL work! Use separate paper if needed.
1 y = 3x 2. y=2x+5 3. x=8+3y
5 + y = 24 x—-y =4 2x -5y =8
Solution: Solution: Solution: 3
»
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4. 3x+2y=171
y=4+2x

Solution:

-

5. 4x — 5y =92
x=7y

Solution:

y 2 8x+ 3y =26
y=2x+4

Solution:

8. x=13+7y
3x — 5y = 23

Solution:

N
~

—
) SN S

S

6. y=3x+8
xX=y

Solution:

9. y= —-3x+19
2x -5y = =10

: = P\
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&
5x —y =20 ﬂ@x+5y 6 \dwtd "&H
3x+y=12 }9‘)’5}'93 gf2x -4y =-7) 4 |Q\- 20 =159
Yy y=3)y A2% =)
J ,Ej /2. = ;
.?(-‘/a)-’iqt - s
= - - - -
Show ALL work! Use separate paper if needed. % | Lly -l-~lj tﬁ Jo \j 3/}
10. SX—y=20 11. x+3y=7 12 3x - Z_y_: 11
-3x+y=12 X+2y=4 3x—-y=7 i
|
i
|
Solution: Solution: Solution:
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Solution:

13 9% — 2y =50
6x — 2y = 32

16. 3X—5y=6‘
2x —4y =4

CSnlitinn-

|

|14 S5x+2y=19
' 3x-4y =1
Solution:

17 “3X = 7y = =3
2x + 6}1 = —34

15 x+y:7
2x+y =11

Solution:

2

-x—3y:8

|18 2x+6y=12
1

o
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